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numeric assumptions wherever required for solving problems. (c) Caleulator is not allowed.(d) Fill OMR sheet

carefully.(e) All questions belong to CO1, CO2, CO3 and CO4

2. The following table gives the =.__J':_n.cdine dis-

L. The marks obtained by a student are given below. 3 respectively. If Rani g:iéz’ﬁﬁo-ﬁfth—of -Poojals-ggg,—
~Subject | Total Marks | Marks Obtainecﬂ what is Rani’s a,g\e?i-’_-'\;.?": .
Mathematics - 100 100 a)10 years b)15 years c) 14 years d) Cannot
Science 100 84 be determiﬁé&h
LSociaI Science 100 67 i
4. The.ages of A and B are presently in the ratio of
English 50 25 AN :
. & 6 respectively. Six years hence, this ratio will
L Hindi 50 24 i,
~ become § : 7 respectively. What was B’s age 5

What is his total percentage in all the subjectsr_‘?r”--‘l';'-- ;
a)56% b) 60% ) 75% d) 80% '

years ago?

a) 25 years  b) 30 years c) 31 years d) 36

years

tribution of 200 householdg?':;f a  village: A man is aged three times more than his son

g.ﬂ

Monthly Income Number "dfr.Households e e woulf\;l T
= 0K A B times of Ronit’s age. After further 8 years, how
e . il many times would he be of Ronit’s age?
=000 i a) 2 times b) 2 1/2 times c) 2 3/4 times d)
Ly 2y 3 times

What is the percentage of households whose

: : 6. The sum of present ages of a father and his son is
monthly income is above Rs. 2000 but below Rs.

8 years more than the present age of the mother.
50007

: The mother is 22 years older than the son. What
a)32.5 b)45 )85 d) 90 .

will be the age of the father after 4 years?

3. Ratio of Rani’s and Komal's ages is 3 : 5 respec- a) 34 years  b) 36 years c) 40 years  d) 38

tively. Ratio of Komal's and Pooja’s ages is 2 : years



7. A tap can completely fill a water tank in 8 hours.

The water tank has a hole in it through which the
water leaks out. The leakage will cause the full
water tank to get empty in 12 hours. How much
time will it take for the tap to fill the tank com-
pletely with the hole?

a) 16 hours d) None

b) 18 hours c) 24 hours

of these

. Two pipes A and B together can fill a cistern in 4

hours. Had they been opened separately, then B

would have taken 6 hours more t_}}aiqﬂArto fill the

10.

11

12.

cistern. How much time will be taken by A alone

to fill the cistem?

a)lhr b)2hrs c¢)6hrs d)8hrs

_ Bucket P has thrice the capacity as bucket Q. It

takes 60 turns for bucket P to fill the empty drum.

13.

14.

How many turns will it take for both the buckets P .~

and Q, having each turn together to fill the emp_tf"- &
i

drum?

a)30 b)40 c)45 d)90

Three pipes can fill a reservolr\._‘_nf'_lO 15 and 20
hours respectively. If the three taps are opened
one after another in :\thc\e .gwen order, with a cer-
tain fixed time gap "\i_é'é’tﬁreen them, the reservoir
fills in 5 hours. The time gap is

a) 15 min  b) 30 min

¢)45 min d) 1 hr

what time will the pipe empty 2/3 part of the cis-
tern?
b) 5 hours

c) 2 hours d) 4 hours

a) 3 hours

Madhu takes twice as much time as Uma to com-

plete a work and Rahul does it in the same time

16.

17.

18.

15;

as Madhu and Uma together. If all three working
together can finish the work in 6 days, then the
time taken by Madhu to finish the work is

c) 36 days d) 40 days

a) 12 days b) 14 days

Rosa can eat 32 rosogollas in one hour. Her sister
Lila needs three hours to eat the same number.
How ﬁmch time will they take to eat 32 rosogollas
together?

b) 75 minutes  c) 90 minutes

a) 45 minutes

d) None of these

A man and a boy" can—du-a—pxeee of- Work—m_m_,

days. If the ma.n Wﬂrks alone for the last 6 da,ys
it is completed in 26 days. How long would the
boy take ‘to do it alone?

a). 20 days b) 24 days c) 36 days d) 72 days

"A‘“started a work and left after working for 2 days.

Then B was called and he finished the work in 9
days. Had A left the work after working for 3
days, B would have finished the remaining work
in 6 days. In how many days can each of them,
working alone, finish the whole work?

b‘). 5 days, 8.5days;

a)2.5 days, 7.5 days ¢} 5

days, 15 days; d) None of these

Kim can do a work in 3 days while David can do
the same work in 2 days. Both of them finish the
work together and get Rs. 150. What is the share
of Kim ?

a)Rs.30 b) Rs.60 c¢)Rs70 d)Rs. 75

44+8+13.5x2(2+6-3)=7
a) 57.5 b)-57.5 c) 66.5 d)-66.5
Ha by v, W, X are 24 natural numbers, then



19

20.

the value of (p - a)(p - b)
a)0 b)l

(p-w) (p-x)is

c)l12 d)24

Ganeshi’s monthly income is twice Jassi’s monthly
income. Two-third of Jassi’s monthly income
is equal to Sukhvinder’s monthly income. If
Sukhvinder’s annual income is Rupees 2.34 lakhs,
ﬁrhat is Ganeshi’s monthly income in Rupees?

a) 14625

b) 29250 ¢) 28230 d) 58500

Which of the following is an irrational number?

a)v127 b) V100 )16 d) \/12/3

21.

22,

23.

25.

If the sum of two numbers is 14 and their differ-
ence is 10, find the product of two numbers?
c)20 d)8

a) 22 b) 24

A number divided by 13 leaves a remainder 1 and-

if the quotient, thus obtained, is divided by 5, we

if the number is divided by 65?7

a)16 b)18 )28 d) 40

£ '}; :‘-:'ﬁ i
After the division of a number succ;pss_-ﬁelyfby 3,
4 and 7, the remainders obtaipgdf';’a‘r; 2, 1 and 4
respectively. What will be \th.éi-.r;inainder if 84 di-
vides the same number‘?

a)dl b)53  ¢) 75, d)80

. If m and n are integers divisible by 5, which of the

following is NOT necessarily true?
a) m+n is divisible by 10 b) m- n is divisible

by 5 c¢) m? — n? is divisible by 25  d) None of

these

Which of the following given values is divisible by
i1
a) 2365 b) 1375 c) 4365 d) 2275

26.

27.

28.

29.
get a remainder of 3. What will be the remainder  *

30.

31.

32.

Three numbers are in the ratio of 3: 4: 5 and their
L.C.M. is 2400, Their H.C.F'. is

a)40 b)80 «c)120 d) 200

An electronic device makes a beep after every 60
sec. Another device makes a beep after every 62
sec. They beeped together at 10 a.m. The next
time, when they would beep together at the earli-
est is

a) 10.30 a.m.

b) 10.31 a.m.  c) 10.59 a.m.

d) 11 a.m

N

The différence betweent e va,rliueﬁof'a, number in-
creased by 25 %’ andthe value of the original num-
ber decreaséaz\ﬁf; 30 % is 22 . What is the original
_numpef?i;m - 36 )48 d)58

A N, e
: kS
s =

( b

Durmg one year, the population of a town in-

éreased by 54 % and during the next year, the pop-
ulation decreased by % 5. If the total population
is 9975 at the end of the second year, then what
was the population size in the beginning of the
d) 9975

first year 7 9990 b) 9970 ¢) 10000

How many kg of pure salt must be added to 30 kg
of 2 % solution of salt and water to increase it to
c) 24kg d) 2

a 10% solution? 2kg b) 3kg

2/3 kg

What is 28% of 36% of 5/7th of 5000 ?

a) 420 b)375 ¢c)360 d) 480

The ages of A and B are in the ratio 6 : 5 and the
sum of their ages is 44 years. What will be the
ratio of their ages after 8 years?

£) 98

alree b8y d)3:4



33. After reading 3/5th of the biology homework on

34.

35.

Monday night, Sanjay read 1/6th of the remain-
ing homework on Tuesday night. What fraction of
the original homework would Sanjay have to read
on Wednesday night to complete the assignment?

a)4/30 b)1/6 «¢)1/5 d)7/30

What part of an hour elapses from 5.57 P.M. to
6.33 P.M.7
a)l/4 b)1/2

Solve |10+ \/ 2 + \/ 108 + /154 + /225

¢)3/6 d)3/4

o7

38.

39.

40.

a)4—b)-6—c) 8—d) 10—

What is the least number which should be sub-
tracted from 0.000326 to make it a perfect square?
a) 0.002 b) 0.0002 c) 0.000002 d) 0.00002

By what least number 5760 be multiplied to ob-
tain a perfect cube number?

a) 125 b) 300 c¢) 600 d) 200

One-forth of a herd of camels was seen mthefor—
est. Twice the square root of the __h_f:ré\haci gone
to mountains and remaining 15€amels were seen
on the bank of a river. F‘;incflt&"t'\hé:.tota,l number of

B

camels.

a)32 b)34 )35 d)36

If the product of four consecutive natural num-
bers increased by a natural number p, is a perfect
square, then the value of p is

c)4 d)8

a)yl b)2

While solving a mathematical problem, Samidha

squared a number and then subtracted 25 from it

41.

42.

43.

.

45.

rather than the required i.e., first subtracting 25 ‘
from the number and then squaring it. But she
got the right answer. What was the given num-
ber?
a)l3

b) 38 ¢) 48 d) Cannot be determined

How many minutes does Haresh take to cover a
distance of 400 m, if he runs at a speed of 20
km/hr?

a).5/6_ b)6/5 &)1/ d)2/b

Which of the following trains is the fastest?

—_—— -+

a)-25-m/sec—b) c)-90km /hr d)

None of these :

The mi]ea & of a motorbike A and a motorbike

Tea

B is 4§km per litre and 52 km per litre respec-

tlvely Motorbike A covered 294 km and motor-
: bike B covered 208 km. If the cost of 1 litre of

petrol is Rupees 48, how much amount in Rupees
would be spent on petrol to cover the total dis-
tance by both the motor bikes together?

¢) 576 d) Cannot be deter-

a) 480 b) 528

mined

A monkey climbing up a pole ascends 6 meters and
slips 3 meters in alternate minutes. If the pole is
60 meters high, how long will it take the monkey
to reach the top?

¢) 35 min d) 37 min

a)31 min  b) 33 min

If H.C.F. of p and q is x and q = xy, then the
L.CM. of pand q is

a)pqg b)qy c)xy d)py



